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Name

1. Which area model shows 9,657 = 9?

Date

A. 1 7 3
9 9,000 630 27
B. 100 70 3
9 9,000 630 27
Cs 1,000 70 3
9 9,000 630 27
D. 1,000 700 3
9 9,000 630 27
2. Multiply.
4,962 X 3 = 57 X 63 =
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3. Adam found 147 = 3. His work is shown.
147+3% = 1%

9
o
3’14'7
-1720
27
-21
0

Adam made a mistake. Explain the mistake and find the correct quotient

Eva begins to make a table to show how gallons convert to quarts.

4,
Part A
Complete the table.
Gallons Quarts
1
3
6
10

Part B

Eva makes 8 gallons of lemonade for the school dance. How many quarts of lemonade does she
make?

Eva makes quarts of lemonade.
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5. Deepa found 197 X 8. Her work is shown.

100 90 7

8 800 72 36

800 + 72 + 56 = 928

Deepa made a mistake. Explain her mistake and find the correct product.

6. Divide.

588 +7 = 1,446 + 6 =
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7. A pet store owner has 243 goldfish. She sells 67 of them. She places the remaining goldfish in
equal groups among her goldfish bowls. Each goldfish bowl holds 8 goldfish.

Part A

Which is the closest estimate for the number of bowls the pet store owner needs for the
remaining goldfish?

A. 20
B. 30
C. 40
D. 160

Part B

How many bowls does the pet store owner need for the remaining goldfish?
The pet store owner needs __ bowls.

Part C

Is your answer reasonable? Explain.

8. Which expression can you use to find 42 X 567

A. (40 X 2) + (50 X 6)
B. (40 X 50) + (2 X 6)
C. (42 % 5)+ (42 x6)
D. (42X 50) + (42 % 6)
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Assessment  Name Date

4. NBT.B.|,

1. Which area model shows 9,657 = 97 4

A. ~_ 1 7 -5
9 9,000 /- 630 27
///,/ “« ) \\\\\\ : 2
B - 100 70 3 | '\%ﬂ 2
9 9,000 . [-630 | 27 e\ c
lk C. | 1,000 70 3
\ 7// /
9 9,000 630 27
D ~ 1,000 700 3 o
9 9,000 : /6-3{/ 27
4 . NST.RE
2. Multiply.
I
4,962 % 3 = 57X 63 =
Z | o3 (@8 0xT) +exTHEDX3)
L{[q‘(oz Xifl 30804 %20 = 21- + 160
) ol
a %3 £3159 Sta’o O
G e EYY 20
%8 € 0 3)567‘ { o
L1109
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3. aAdam found 147 = 3. His work is shown.
C
147+3% =__ 13 | _ 40
4 0 =19
9 347
4 —~ 17 C),

Pl —75

-1720
27 ’;_‘/:_1
-2 OO
0

Adam made a mistake. Explain the mistake and find the correct quotient.

Adaum Wittt 1% 3= 120 inskad 40 x3=120.
e covreecty QquOFientis uq.
4. Eva begins to make a table to show how gallons convert to quarts.

Part A
Complete the table. 4 —
‘ﬁ | Gallons Quarts
1 L [
3 Va
6 ] z\}
10 %O

Part B \%)C\\ = L\' C\j\%,

Eva makes 8;&;_11’19@% of lemonade for the school dance. How many cItIarts‘of lemonade does she

. , 12 b
make? - < -
22X Y=332

—~
Eva makes S 2. quarts of lemonade.
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5. Deepa found 197 X 8. Her work is shown.

100 90 7

8 800 72 56

800 + 72 + 56 = 928

Deepa made a mistake. Explain her mistake and find the correct product.

Module Assessment 1

Wt '
Tepl RE=12 and 1+ should loe 90%8=720,

The orrect pvocLu\c}» = \ 57.

‘;glwd61 6 ‘0

sg8+7= %4 1,446 = 6 = 7,”(1
LJrO

B 2 00
O iy
7W§§ﬁ E,%%%

- 560 - 1200
28 246
18 — 240
6o 2
| = L
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7. A _A pet store owner ha$ %} goldfxsh She sell@ of them She places the remammg goldfish in

Part A 3
Which is the closest estimate for the number of bowls the pet store owner needs for the
remaining goldfish? Q ) \é i\f‘ 7 ‘
A 20 Y L"\j 205 Z /
N, 6] AT
B. 30 : —r i 5) ’
' | Tb - 160
C. 40 -~ p ca— ,
N0 | 6
D. 160 \ &
Part B ) H(AUZ

How many bowls does the pet store owner need for the remaining goldfish?
The pet store owner needs LZ) bowls.

Part C

Is your answer reasonable? Explain.
e 1 ) -~y \ N . Y A

]

NXD L o LO

u NEBT

8. Which expression can you use to find 42 X 56? B AASE 5.
A (40 2) + (50 X 6)
B. (40%-50) + (2 X 6)?
_C.‘ (42:%5)+(42X6)

——

(D (42X 50) + (42X 6)

/
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